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x-cantillationLevel=”1.2” strong=”c/6999|���������/�� a” x-morph=”OSHM:HC/Vhq3ms”
”strong=”d/3548|�������/�� x-morph=”OSHM:HTd/Ncmsa” ”strong=”853|��/����
x-morph=”OSHM:HTo/Sp3mp” x-cantillationLevel=”1.1.0” ”strong=”d/4196|�/�����������/��
x-morph=”OSHM:HTd/Ncmsa/Sd” x-cantillationLevel=”1.1” strong=”5921|����
a” x-morph=”OSHM:HR” x-cantillationLevel=”1.0” ”strong=”801|��������
x-morph=”OSHM:HNcmpc” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” strong=”c/3722|�������/�� a” x-morph=”OSHM:HC/Vpq3ms”
strong=”5921|�/������ a” x-morph=”OSHM:HR/Sp3ms” ”strong=”d/3548|�������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0.0” strong=”5921|���
a” x-morph=”OSHM:HR”��/���������|strong=”2403 b” x-morph=”OSHM:HNcfsc/Sp3ms”
strong=”834|������ a” x-morph=”OSHM:HTr”�������|strong=”2398”
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.0” ”strong=”c/5545|��������/��
x-morph=”OSHM:HC/VNq3ms” ”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0”� �5 ”strong=”c/5315|�������/�� x-morph=”OSHM:HC/Ncbsa” strong=”3588|�����

a” x-morph=”OSHM:HC”���������|strong=”2398” x-morph=”OSHM:HVqi3fs”
x-cantillationLevel=”1.2.1” ”strong=”c/8085|����������/�� x-morph=”OSHM:HC/Vqq3fs”

x-cantillationLevel=”1.2.0” strong=”6963|����� a” x-morph=”OSHM:HNcmsc”
”strong=”423|������ x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.2”
”strong=”c/1931|�����/�� x-morph=”OSHM:HC/Pp3ms” ”strong=”5707|����
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1” strong=”176|���� a”
x-morph=”OSHM:HC” ”strong=”7200|������ x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”1.0” strong=”176|���� a” x-morph=”OSHM:HC” ”strong=”3045|������
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1” strong=”518|��� a”
x-morph=”OSHM:HC”������|strong=”3808” x-morph=”OSHM:HTn” ”strong=”5046|��������
x-morph=”OSHM:HVhi3ms” x-cantillationLevel=”0.0” ”strong=”c/5375|�������/��
x-morph=”OSHM:HC/Vqq3ms” ”strong=”5771|��/������ x-morph=”OSHM:HNcbsc/Sp3ms”
x-cantillationLevel=”0”� 2 strong=”176|���� a” x-morph=”OSHM:HC”
”strong=”5315|������� x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1.3.1”
strong=”834|������� a” x-morph=”OSHM:HTr” ”strong=”5060|��������
x-morph=”OSHM:HVqi3fs” x-cantillationLevel=”1.3.0” ”strong=”b/3605|���/���
x-morph=”OSHM:HR/Ncmsc”��������|strong=”1697” x-morph=”OSHM:HNcmsa”
”strong=”2931|������ x-morph=”OSHM:HAamsa” x-cantillationLevel=”1.3”
strong=”176|���� a” x-morph=”OSHM:HC” ”strong=”b/5038|��������/��
x-morph=”OSHM:HR/Ncfsc” strong=”2416|������� c” x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1.2.1.0” ”strong=”2931|�������� x-morph=”OSHM:HAafsa”
x-cantillationLevel=”1.2.1” strong=”176|���� a” x-morph=”OSHM:HC” 3
We read one or more accents in L differently than BHS. Often this notation in-
dicates a typographical error in BHS. ”strong=”b/5038|��������/��� x-
morph=”OSHM:HR/Ncfsc” x-cantillationLevel=”1.2.0” ”strong=”929|���������
x-morph=”OSHM:HNcfsa” ”strong=”2931|�������� x-morph=”OSHM:HAafsa”
3c
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x-cantillationLevel=”1.2” strong=”176|���� a” x-morph=”OSHM:HC” x-cantillationLevel=”1.1”
”strong=”b/5038|��������/��� x-morph=”OSHM:HR/Ncfsc” x-cantillationLevel=”1.0”
”strong=”8318|������� x-morph=”OSHM:HNcmsa” ”strong=”2931|������
x-morph=”OSHM:HAamsa” x-cantillationLevel=”1” ”strong=”c/5956|��������/��
x-morph=”OSHM:HC/VNq3ms” strong=”4480|����/������ a” x-morph=”OSHM:HR/Sp1cp”
x-cantillationLevel=”0.1” ”strong=”c/1931|�����/�� x-morph=”OSHM:HC/Pp3ms”
”strong=”2931|������ x-morph=”OSHM:HAamsa” x-cantillationLevel=”0.0”
”strong=”c/816|�������/�� x-morph=”OSHM:HC/Vqq3ms” x-cantillationLevel=”0”�
3 strong=”176|���� a” x-morph=”OSHM:HC” strong=”3588|���� a” x-
morph=”OSHM:HC” ”strong=”5060|������� x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”1.2.0” ”strong=”b/2932|��������/��� x-morph=”OSHM:HR/Ncfsc”
”strong=”120|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.2”
”strong=”l/3605|����/�� x-morph=”OSHM:HR/Ncmsc” x-cantillationLevel=”1.1.0”
”strong=”2932|��/�������� x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”1.1”
strong=”834|������� a” x-morph=”OSHM:HTr” strong=”2930|��������
a” x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”1.0” ”strong=”b|��/����
x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”1” ”strong=”c/5956|��������/��
x-morph=”OSHM:HC/VNq3ms” strong=”4480|����/������ a” x-morph=”OSHM:HR/Sp1cp”
x-cantillationLevel=”0.1” ”strong=”c/1931|�����/�� x-morph=”OSHM:HC/Pp3ms”
”strong=”3045|������ x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.0”
”strong=”c/816|�������/�� x-morph=”OSHM:HC/Vqq3ms” x-cantillationLevel=”0”�
4 strong=”176|���� a” x-morph=”OSHM:HC” ”strong=”5315|�������
x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1.0.1.2” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”7650|���������� x-morph=”OSHM:HVNi3fs”
”strong=”l/981|�������/�� x-morph=”OSHM:HR/Vpc” ”strong=”b/8193|�����������/��
x-morph=”OSHM:HR/Ncfda” x-cantillationLevel=”1.0.1.1” strong=”l/7489|������/��
a” x-morph=”OSHM:HR/Vhc” x-cantillationLevel=”1.0.1.0” � strong=”176|����
a” x-morph=”OSHM:HC” ”strong=”l/3190|��������/�� x-morph=”OSHM:HR/Vhc”
x-cantillationLevel=”1.0.1” ”strong=”l/3605|���/��� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”1.0.0.0” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”981|��������� x-morph=”OSHM:HVpi3ms” ”strong=”d/120|������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0.0” ”strong=”b/7621|���������/���
x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”1.0” ”strong=”c/5956|��������/��
x-morph=”OSHM:HC/VNq3ms” strong=”4480|����/������ a” x-morph=”OSHM:HR/Sp1cp”
x-cantillationLevel=”1” ”strong=”c/1931|����/�� x-morph=”OSHM:HC/Pp3ms”�������|strong=”3045”
x-morph=”OSHM:HVqp3ms” ”strong=”c/816|�������/�� x-morph=”OSHM:HC/Vqq3ms”
x-cantillationLevel=”0.0” ”strong=”l/259|������/�� x-morph=”OSHM:HR/Acfsa”
”strong=”m/428|�������/�� x-morph=”OSHM:HR/Pdxcp” x-cantillationLevel=”0”�
5 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqq3ms” strong=”3588|����
a” x-morph=”OSHM:HC”����������|strong=”816” x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”1.0” ”strong=”l/259|������/�� x-morph=”OSHM:HR/Acfsa”
”strong=”m/428|�������/�� x-morph=”OSHM:HR/Pdxcp” x-cantillationLevel=”1”
”strong=”c/3034|������������/�� x-morph=”OSHM:HC/Vtq3ms” x-cantillationLevel=”0.1”
strong=”834|������� a” x-morph=”OSHM:HTr” ”strong=”2398|������
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.0” strong=”5921|��/������
a” x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”0”� 6 ”strong=”c/935|�������/��
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x-morph=”OSHM:HC/Vhq3ms” ”strong=”853|��� x-morph=”OSHM:HTo”��/��������|strong=”817”
x-morph=”OSHM:HNcmsc/Sp3ms” ”strong=”l/3068|������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.0.0.1” strong=”5921|���� a” x-morph=”OSHM:HR”
strong=”2403|���/������� b” x-morph=”OSHM:HNcfsc/Sp3ms” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”2398|������ x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”1.0.0.0” ”strong=”5347|�������� x-morph=”OSHM:HNcfsa”
strong=”4480|��� a” x-morph=”OSHM:HR”������/���|strong=”d/6629”
x-morph=”OSHM:HTd/Ncbsa” ”strong=”3776|����������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1.0.0” strong=”176|���� a” x-morph=”OSHM:HC”�����������|strong=”8166”
x-morph=”OSHM:HNcfsc” ”strong=”5795|�������� x-morph=”OSHM:HNcfpa”
x-cantillationLevel=”1.0” strong=”l/2403|��������/�� b” x-morph=”OSHM:HR/Ncfsa”
x-cantillationLevel=”1” strong=”c/3722|�������/�� a” x-morph=”OSHM:HC/Vpq3ms”
strong=”5921|�/������ a” x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.0.0”
”strong=”d/3548|�������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0”
strong=”m/2403|��/��������/�� b” x-morph=”OSHM:HR/Ncfsc/Sp3ms”
x-cantillationLevel=”0”� 7 strong=”c/518|���/�� a” x-morph=”OSHM:HC/C”�����|strong=”3808”
x-morph=”OSHM:HTn” ”strong=”5060|�������� x-morph=”OSHM:HVhi3fs”
4 BHS has been faithful to the Leningrad Codex where there might be a question
of the validity of the form andwe keep the same form as BHS. ”strong=”3027|���/���
x-morph=”OSHM:HNcbsc/Sp3ms” x-cantillationLevel=”1.1.0” ”strong=”1767|�����
x-morph=”OSHM:HNcmsc” ”strong=”7716|����� x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”1.1” ”strong=”c/935|�������/�� x-morph=”OSHM:HC/Vhq3ms”
”strong=”853|��� x-morph=”OSHM:HTo”��/��������|strong=”817” x-
morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1.0.1.0” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”2398|������ x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”1.0.1” ”strong=”8147|�������� x-morph=”OSHM:HAcfdc”
”strong=”8449|������� x-morph=”OSHM:HNcbpa” x-cantillationLevel=”1.0.0”
strong=”176|���� a” x-morph=”OSHM:HC”��������|strong=”8147” x-
morph=”OSHM:HAcmdc” strong=”1121|������ a” x-morph=”OSHM:HNcmpc”��������|strong=”3123”
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.0” ”strong=”l/3068|������/���
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1” ”strong=”259|������ x-
morph=”OSHM:HAcmsa” strong=”l/2403|��������/�� b” x-morph=”OSHM:HR/Ncfsa”
x-cantillationLevel=”0.0” ”strong=”c/259|������/�� x-morph=”OSHM:HC/Acmsa”
strong=”l/5930|������/�� a” x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”0”�
8 ”strong=”c/935|�������/�� x-morph=”OSHM:HC/Vhq3ms” ”strong=”853|��/����
x-morph=”OSHM:HTo/Sp3mp” x-cantillationLevel=”1.1.0” ”strong=”413|���
x-morph=”OSHM:HR”�������/���|strong=”d/3548” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1” ”strong=”c/7126|���������/�� x-morph=”OSHM:HC/Vhq3ms”
x-cantillationLevel=”1.0.0” ”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”834
a” x-morph=”OSHM:HTr” strong=”l/2403|��������/�� b” x-morph=”OSHM:HRd/Ncfsa”
x-cantillationLevel=”1.0” ”strong=”7223|����������� x-morph=”OSHM:HAafsa”
x-cantillationLevel=”1” ”strong=”c/4454|������/�� x-morph=”OSHM:HC/Vqq3ms”
”strong=”853|��� x-morph=”OSHM:HTo”��/�������|strong=”7218 a”
x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0.0.0” ”strong=”m/4136|������/��
41
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x-morph=”OSHM:HR/R” ”strong=”6203|��/������� x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
”strong=”914|���������� x-morph=”OSHM:HVhi3ms” x-cantillationLevel=”0”�
9 strong=”c/5137|�������/�� a” x-morph=”OSHM:HC/Vhq3ms” x-cantillationLevel=”1.2.0.0”
”strong=”m/1818|�����/�� x-morph=”OSHM:HR/Ncmsc” strong=”d/2403|��������/��
b” x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.2.0” strong=”5921|���
a” x-morph=”OSHM:HR”������|strong=”7023” x-morph=”OSHM:HNcmsc”
”strong=”d/4196|�����������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.2”
”strong=”c/d/7604|����������/��/�� x-morph=”OSHM:HC/Td/VNrmsa”
”strong=”b/1818|�����/��� x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.1”
”strong=”4680|��������� x-morph=”OSHM:HVNi3ms” x-cantillationLevel=”1.0”
”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”3247” x-morph=”OSHM:HNcmsc”
”strong=”d/4196|�����������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1”
strong=”2403|�������� b” x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.0”
”strong=”1931|����� x-morph=”OSHM:HPp3ms” x-cantillationLevel=”0”�
10 ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”��������/���|strong=”d/8145”
x-morph=”OSHM:HTd/Aomsa” x-cantillationLevel=”1.0.0” strong=”6213|���������
a” x-morph=”OSHM:HVqi3ms” strong=”5930|������ a” x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1.0” ”strong=”k/4941|�����������/��� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”1” strong=”c/3722|�������/�� a” x-morph=”OSHM:HC/Vpq3ms”
strong=”5921|�/������ a” x-morph=”OSHM:HR/Sp3ms” ”strong=”d/3548|�������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0.0” strong=”m/2403|��/��������/��
b” x-morph=”OSHM:HR/Ncfsc/Sp3ms” strong=”834|������ a” x-morph=”OSHM:HTr”�������|strong=”2398”
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.0” ”strong=”c/5545|��������/��
x-morph=”OSHM:HC/VNq3ms” ”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0”� � 11 strong=”c/518|���/�� a” x-morph=”OSHM:HC/C”�����|strong=”3808”
x-morph=”OSHM:HTn” ”strong=”5381|��������� x-morph=”OSHM:HVhi3fs”
”strong=”3027|��/���� x-morph=”OSHM:HNcbsc/Sp3ms” x-cantillationLevel=”1.1.1.0”
”strong=”l/8147|��������/�� x-morph=”OSHM:HR/Acfdc” ”strong=”8449|�������
x-morph=”OSHM:HNcbpa” x-cantillationLevel=”1.1.1” strong=”176|����
a” x-morph=”OSHM:HC” x-cantillationLevel=”1.1.0” ”strong=”l/8147|�������/��
x-morph=”OSHM:HR/Acmdc” strong=”1121|����� a” x-morph=”OSHM:HNcmpc”��������|strong=”3123”
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.1” ”strong=”c/935|�������/��
x-morph=”OSHM:HC/Vhq3ms” ”strong=”853|��� x-morph=”OSHM:HTo”��/����������|strong=”7133
a” x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1.0.1.0” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”2398|������ x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”1.0.1” ”strong=”6224|���������� x-morph=”OSHM:HAofsc”
”strong=”d/374|������/�� x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.0.0”
”strong=”5560|������ x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.0”
strong=”l/2403|��������/�� b” x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”1”
”strong=”3808|��� x-morph=”OSHM:HTn”���������|strong=”7760 a”
x-morph=”OSHM:HVqi3ms” strong=”5921|��/������ a” x-morph=”OSHM:HR/Sp3fs”
x-cantillationLevel=”0.1.1.0” ”strong=”8081|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.1.1” ”strong=”c/3808|���/�� x-morph=”OSHM:HC/Tn”��������|strong=”5414”
x-morph=”OSHM:HVqi3ms” strong=”5921|���/������ a” x-morph=”OSHM:HR/Sp3fs”
x-cantillationLevel=”0.1.0” ”strong=”3828|�������� x-morph=”OSHM:HNcfsa”
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x-cantillationLevel=”0.1” strong=”3588|����� a” x-morph=”OSHM:HC” strong=”2403|��������
b” x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.0” ”strong=”1931|�����
x-morph=”OSHM:HPp3fs” x-cantillationLevel=”0”� 12 ”strong=”c/935|���/�������/��
x-morph=”OSHM:HC/Vhq3ms/Sp3fs” x-cantillationLevel=”1.2.0” ”strong=”413|���
x-morph=”OSHM:HR”�������/���|strong=”d/3548” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.2” ”strong=”c/7061|������/�� x-morph=”OSHM:HC/Vqq3ms”
”strong=”d/3548|�������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.0.2”
� strong=”4480|����/������ a” x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”1.1.0.1”
”strong=”4393|������� x-morph=”OSHM:HNcmsc” ”strong=”7062|��/������
x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1.1.0.0” ”strong=”853|���
x-morph=”OSHM:HTo”��/������������|strong=”234” x-morph=”OSHM:HNcfsc/Sp3fs”
x-cantillationLevel=”1.1.0” strong=”c/6999|���������/�� a” x-morph=”OSHM:HC/Vhq3ms”
”strong=”d/4196|�/�����������/�� x-morph=”OSHM:HTd/Ncmsa/Sd”
x-cantillationLevel=”1.1” strong=”5921|���� a” x-morph=”OSHM:HR” x-
cantillationLevel=”1.0” ”strong=”801|�������� x-morph=”OSHM:HNcmpc”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
strong=”2403|�������� b” x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.0”
”strong=”1931|����� x-morph=”OSHM:HPp3fs” x-cantillationLevel=”0”�
13 strong=”c/3722|�������/�� a” x-morph=”OSHM:HC/Vpq3ms” strong=”5921|�/������
a” x-morph=”OSHM:HR/Sp3ms” ”strong=”d/3548|�������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.0.0.0” strong=”5921|��� a” x-morph=”OSHM:HR”��/���������|strong=”2403
b” x-morph=”OSHM:HNcfsc/Sp3ms” strong=”834|������ a” x-morph=”OSHM:HTr”�������|strong=”2398”
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1.0.0” ”strong=”m/259|������/���
x-morph=”OSHM:HR/Acfsa” ”strong=”m/428|�������/�� x-morph=”OSHM:HR/Pdxcp”
x-cantillationLevel=”1.0” ”strong=”c/5545|��������/�� x-morph=”OSHM:HC/VNq3ms”
”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1” ”strong=”c/1961|��������/��
x-morph=”OSHM:HC/Vqq3fs” ”strong=”l/3548|�������/�� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”0.0” ”strong=”k/4503|���������/��� x-morph=”OSHM:HRd/Ncfsa”
x-cantillationLevel=”0”� � 14 ”strong=”c/1696|���������/�� x-morph=”OSHM:HC/Vpw3ms”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”4872” x-morph=”OSHM:HNp”
”strong=”l/559|�����/��� x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0”�
15 ”strong=”5315|������� x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1.2.0”
strong=”3588|����� a” x-morph=”OSHM:HC”���������|strong=”4603”
x-morph=”OSHM:HVqi3fs” ”strong=”4604|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.2” ”strong=”c/2398|���������/�� x-morph=”OSHM:HC/Vqq3fs”
x-cantillationLevel=”1.1.0” ”strong=”b/7684|���������/��� x-morph=”OSHM:HR/Ncfsa”
x-cantillationLevel=”1.1” ”strong=”m/6944|����������/�� x-morph=”OSHM:HR/Ncmpc”
x-cantillationLevel=”1.0” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”c/935|�������/�� x-morph=”OSHM:HC/Vhq3ms”
”strong=”853|��� x-morph=”OSHM:HTo”��/��������|strong=”817” x-
morph=”OSHM:HNcmsc/Sp3ms” ”strong=”l/3068|������/��� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”0.0.1.0” strong=”352|������ a” x-morph=”OSHM:HNcmsa”
”strong=”8549|�������� x-morph=”OSHM:HAamsa” strong=”4480|���
a” x-morph=”OSHM:HR”������/���|strong=”d/6629” x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”0.0.1” ”strong=”b/6187|���/�������/��� x-morph=”OSHM:HR/Ncmsc/Sp2ms”
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x-cantillationLevel=”0.0.0” ”strong=”3701|������� x-morph=”OSHM:HNcmsc”�����������|strong=”8255”
x-morph=”OSHM:HNcmpa” ”strong=”b/8255|�������/��� x-morph=”OSHM:HR/Ncmsc”��������/���|strong=”d/6944”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0” ”strong=”l/817|�������/��
x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0”� 16 ”strong=”c/853|����/��
x-morph=”OSHM:HC/To” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”2398|������ x-morph=”OSHM:HVqp3ms” strong=”4480|��� a”
x-morph=”OSHM:HR”��������/���|strong=”d/6944” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1.1.0” strong=”7999|���������� a” x-morph=”OSHM:HVpi3ms”
x-cantillationLevel=”1.1.1” ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”���/�����������|strong=”2549”
x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”1.1.0” ”strong=”3254|�������
x-morph=”OSHM:HVhj3ms” strong=”5921|�/������ a” x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1.1” ”strong=”c/5414|������/�� x-morph=”OSHM:HC/Vqq3ms”
”strong=”853|��/���� x-morph=”OSHM:HTo/Sp3ms” x-cantillationLevel=”1.0”
”strong=”l/3548|�������/�� x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1”
”strong=”c/d/3548|�������/��/�� x-morph=”OSHM:HC/Td/Ncmsa” x-
cantillationLevel=”0.0.1” strong=”3722|��������� a” x-morph=”OSHM:HVpi3ms”
strong=”5921|�/������ a” x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.0.0”
strong=”b/352|�����/��� a” x-morph=”OSHM:HR/Ncmsc” ”strong=”d/817|�������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0” ”strong=”c/5545|��������/��
x-morph=”OSHM:HC/VNq3ms” ”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0”� � 17 strong=”c/518|���/�� a” x-morph=”OSHM:HC/C”���������|strong=”5315”
x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1.2.0” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”2398|��������� x-morph=”OSHM:HVqi3fs”
x-cantillationLevel=”1.2” strong=”c/6213|����������/�� a” x-morph=”OSHM:HC/Vqq3fs”
x-cantillationLevel=”1.1.1” ”strong=”259|������ x-morph=”OSHM:HAcfsa”
x-cantillationLevel=”1.1.0” ”strong=”m/3605|����/�� x-morph=”OSHM:HR/Ncmsc”���������|strong=”4687”
x-morph=”OSHM:HNcfpc” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” strong=”834|������� a” x-morph=”OSHM:HTr”
x-cantillationLevel=”1.0” ”strong=”3808|���� x-morph=”OSHM:HTn” strong=”6213|������������
a” x-morph=”OSHM:HVNi3fp” x-cantillationLevel=”1” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn”�������|strong=”3045” x-morph=”OSHM:HVqp3ms”
”strong=”c/816|�������/�� x-morph=”OSHM:HC/Vqq3ms” x-cantillationLevel=”0.0”
”strong=”c/5375|�������/�� x-morph=”OSHM:HC/Vqq3ms” ”strong=”5771|��/������
x-morph=”OSHM:HNcbsc/Sp3ms” x-cantillationLevel=”0”� 18 ”strong=”c/935|������/���
x-morph=”OSHM:HC/Vhq3ms” x-cantillationLevel=”1.0.0.0” strong=”352|������
a” x-morph=”OSHM:HNcmsa” ”strong=”8549|�������� x-morph=”OSHM:HAamsa”
strong=”4480|��� a” x-morph=”OSHM:HR”������/���|strong=”d/6629”
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1.0.0” ”strong=”b/6187|���/�������/���
x-morph=”OSHM:HR/Ncmsc/Sp2ms” ”strong=”l/817|�������/�� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”1.0” ”strong=”413|��� x-morph=”OSHM:HR”�������/���|strong=”d/3548”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1” strong=”c/3722|�������/��
a” x-morph=”OSHM:HC/Vpq3ms” strong=”5921|�/������ a” x-morph=”OSHM:HR/Sp3ms”
”strong=”d/3548|�������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0.0.0”
strong=”5921|���� a” x-morph=”OSHM:HR” ”strong=”7684|��/���������
x-morph=”OSHM:HNcfsc/Sp3ms” strong=”834|������ a” x-morph=”OSHM:HTr”��������|strong=”7683”
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.0.0” ”strong=”c/1931|�����/��
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x-morph=”OSHM:HC/Pp3ms” ”strong=”3808|���� x-morph=”OSHM:HTn”�������|strong=”3045”
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.0” ”strong=”c/5545|��������/��
x-morph=”OSHM:HC/VNq3ms” ”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0”� 19 ”strong=”817|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.0” ”strong=”1931|����� x-morph=”OSHM:HPp3ms”
x-cantillationLevel=”1” ”strong=”816|������� x-morph=”OSHM:HVqa” ”strong=”816|�������
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.0” ”strong=”l/3068|������/��
x-morph=”OSHM:HR/Np” x-cantillationLevel=”0”� � 20 5 KJV:Lev.6.1 ”strong=”c/1696|���������/��
x-morph=”OSHM:HC/Vpw3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0” ”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”4872”
x-morph=”OSHM:HNp” ”strong=”l/559|�����/��� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”0”� 21 6 KJV:Lev.6.2 ”strong=”5315|������� x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”1.1.0” strong=”3588|����� a” x-morph=”OSHM:HC”
”strong=”2398|�������� x-morph=”OSHM:HVqi3fs” x-cantillationLevel=”1.1”
”strong=”c/4603|��������/�� x-morph=”OSHM:HC/Vqq3fs” ”strong=”4604|������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0” ”strong=”b/3068|������/���
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1” ”strong=”c/3584|�������/��
x-morph=”OSHM:HC/Vpq3ms” ”strong=”b/5997|��/�������/��� x-morph=”OSHM:HR/Ncmsc/Sp3ms”
x-cantillationLevel=”0.1.1.0” ”strong=”b/6487|����������/��� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”0.1.1” strong=”176|���� a” x-morph=”OSHM:HC”����������/���|strong=”b/8667”
x-morph=”OSHM:HR/Ncfsc” ”strong=”3027|���� x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”0.1.0” strong=”176|���� a” x-morph=”OSHM:HC” ”strong=”b/1498|������/��
x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0.1” strong=”176|����
a” x-morph=”OSHM:HC” x-cantillationLevel=”0.0” ”strong=”6231|�������
x-morph=”OSHM:HVqp3ms” ”strong=”853|��� x-morph=”OSHM:HTo”��/��������|strong=”5997”
x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0”� 22 7 KJV:Lev.6.3
strong=”176|���� a” x-morph=”OSHM:HC”�������|strong=”4672” x-morph=”OSHM:HVqp3ms”
”strong=”9|�������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.0.0”
”strong=”c/3584|�������/�� x-morph=”OSHM:HC/Vpq3ms” ”strong=”b|��/����
x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”1.0” ”strong=”c/7650|����������/��
x-morph=”OSHM:HC/VNq3ms” strong=”5921|��� a” x-morph=”OSHM:HR”��������|strong=”8267”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” strong=”5921|��� a” x-
morph=”OSHM:HR”�������|strong=”259” x-morph=”OSHM:HAcfsa” x-
cantillationLevel=”0.0.1” ”strong=”m/3605|�����/�� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”0.0.0” strong=”834|������ a” x-morph=”OSHM:HTr”����������|strong=”6213
a” x-morph=”OSHM:HVqi3ms” ”strong=”d/120|������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.0” ”strong=”l/2398|������/�� x-morph=”OSHM:HR/Vqc”
”strong=”b/2007|�������/�� x-morph=”OSHM:HR/Pp3fp” x-cantillationLevel=”0”�
23 8 KJV:Lev.6.4 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqq3ms”
x-cantillationLevel=”1.3.0” strong=”3588|����� a” x-morph=”OSHM:HC”���������|strong=”2398”
x-morph=”OSHM:HVqi3ms” ”strong=”c/816|�������/�� x-morph=”OSHM:HC/Vqq3ms”
x-cantillationLevel=”1.3” ”strong=”c/7725|��������/�� x-morph=”OSHM:HC/Vhq3ms”
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”strong=”853|��� x-morph=”OSHM:HTo”���������/���|strong=”d/1500”
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.2.1.0” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”1497|������� x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”1.2.1” strong=”176|���� a” x-morph=”OSHM:HC” ”strong=”853|���
x-morph=”OSHM:HTo”��������/���|strong=”d/6233” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.2.0” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”6231|������� x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1.2”
strong=”176|���� a” x-morph=”OSHM:HC” x-cantillationLevel=”1.1.0” ”strong=”853|���
x-morph=”OSHM:HTo”�����������/���|strong=”d/6487” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”6485|�������� x-morph=”OSHM:HVHp3ms” x-cantillationLevel=”1.0”
”strong=”854|��/����� x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1”
strong=”176|���� a” x-morph=”OSHM:HC” ”strong=”853|��� x-morph=”OSHM:HTo”��������/���|strong=”d/9”
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.0” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”4672|������ x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”0”� 24 9 KJV:Lev.6.5 strong=”176|���� a” x-morph=”OSHM:HC”
x-cantillationLevel=”1.2.0.1” ”strong=”m/3605|�����/�� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”1.2.0.0” strong=”834|������ a” x-morph=”OSHM:HTr”�����������|strong=”7650”
x-morph=”OSHM:HVNi3ms” strong=”5921|��/����� a” x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1.2.0” ”strong=”l/8267|��������/�� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”1.2” strong=”c/7999|��������/�� a” x-morph=”OSHM:HC/Vpq3ms”
”strong=”853|���/��� x-morph=”OSHM:HTo/Sp3ms” x-cantillationLevel=”1.1.0”
strong=”b/7218|��/������/��� a” x-morph=”OSHM:HR/Ncmsc/Sp3ms”
x-cantillationLevel=”1.1” ”strong=”c/2549|�/�����������/�� x-morph=”OSHM:HC/Aobpc/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”3254|������ x-morph=”OSHM:HVhj3ms”
strong=”5921|�/������ a” x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1”
strong=”l/834|�������/�� a” x-morph=”OSHM:HR/Tr” ”strong=”1931|�����
x-morph=”OSHM:HPp3ms” ”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0.0.0” ”strong=”5414|����/�������� x-morph=”OSHM:HVqi3ms/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”b/3117|�����/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”819|��/��������� x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”0”�
25 10 KJV:Lev.6.6 ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”��/��������|strong=”817”
x-morph=”OSHM:HNcmsc/Sp3ms” ”strong=”935|������� x-morph=”OSHM:HVhi3ms”
x-cantillationLevel=”1.0” ”strong=”l/3068|������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1” strong=”352|������ a” x-morph=”OSHM:HNcmsa”
”strong=”8549|�������� x-morph=”OSHM:HAamsa” strong=”4480|���
a” x-morph=”OSHM:HR”������/���|strong=”d/6629” x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”0.0.0” ”strong=”b/6187|���/�������/��� x-morph=”OSHM:HR/Ncmsc/Sp2ms”
”strong=”l/817|�������/�� x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0.0”
”strong=”413|��� x-morph=”OSHM:HR”�������/���|strong=”d/3548”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”� 26 11 KJV:Lev.6.7
strong=”c/3722|�������/�� a” x-morph=”OSHM:HC/Vpq3ms” strong=”5921|�/������
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a” x-morph=”OSHM:HR/Sp3ms” ”strong=”d/3548|�������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.0.0” ”strong=”l/6440|������/�� x-morph=”OSHM:HR/Ncbpc”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”c/5545|��������/�� x-morph=”OSHM:HC/VNq3ms” ”strong=”l|��/��
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1” strong=”5921|��� a”
x-morph=”OSHM:HR”�������|strong=”259” x-morph=”OSHM:HAcfsa” x-
cantillationLevel=”0.0.0” ”strong=”m/3605|�����/�� x-morph=”OSHM:HR/Ncmsa”
strong=”834|������� a” x-morph=”OSHM:HTr”����������|strong=”6213
a” x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”0.0” ”strong=”l/819|���������/��
x-morph=”OSHM:HR/Ncfsa” ”strong=”b|��/��� x-morph=”OSHM:HR/Sp3fs”
x-cantillationLevel=”0”� �6 12 KJV:Lev.6.8 ”strong=”c/1696|���������/�� x-morph=”OSHM:HC/Vpw3ms”

”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”4872” x-

morph=”OSHM:HNp” ”strong=”l/559|�����/��� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”0”� 2 13 KJV:Lev.6.9 ”strong=”6680|���� x-morph=”OSHM:HVpv2ms”
”strong=”853|���� x-morph=”OSHM:HTo”���������|strong=”175” x-
morph=”OSHM:HNp” x-cantillationLevel=”1.1.0” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”�/��������|strong=”1121 a” x-morph=”OSHM:HNcmpc/Sp3ms”
”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1.1”
”strong=”2063|����� x-morph=”OSHM:HPdxfs” ”strong=”8451|��������
x-morph=”OSHM:HNcfsc” x-cantillationLevel=”1.0” strong=”d/5930|������/��
a” x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1” ”strong=”1931|�����
x-morph=”OSHM:HPp3fs” strong=”d/5930|������/�� a” x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”0.1.0.0” strong=”5921|���� a” x-morph=”OSHM:HR”
”strong=”4169|��������� x-morph=”OSHM:HNcfsa” strong=”5921|���
a” x-morph=”OSHM:HR”�����������/���|strong=”d/4196” x-morph=”OSHM:HTd/Ncmsa”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”����������/���|strong=”d/3915”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1.0” ”strong=”5704|���
x-morph=”OSHM:HR”�������/���|strong=”d/1242” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.1” ”strong=”c/784|�����/�� x-morph=”OSHM:HC/Ncbsc”
”strong=”d/4196|�����������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0”
”strong=”3344|�������� x-morph=”OSHM:HVHi3fs” ”strong=”b|��/���
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0”� 3 14 KJV:Lev.6.10
”strong=”c/3847|�������/�� x-morph=”OSHM:HC/Vqq3ms” ”strong=”d/3548|�������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.1.0” ”strong=”4055|��/�����
x-morph=”OSHM:HNcmsc/Sp3ms” ”strong=”906|���� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1.1” ”strong=”c/4370|����������/�� x-morph=”OSHM:HC/Ncmdc”�����|strong=”906”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1.0” ”strong=”3847|����������
x-morph=”OSHM:HVqi3ms” strong=”5921|��� a” x-morph=”OSHM:HR”���/��������|strong=”1320”
x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1.1” strong=”c/7311|�������/��
a” x-morph=”OSHM:HC/Vhq3ms” ”strong=”853|��� x-morph=”OSHM:HTo”��������/���|strong=”d/1880”
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x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0.1” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”398|�������� x-morph=”OSHM:HVqi3fs”
”strong=”d/784|�����/�� x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1.0.0”
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x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.0” strong=”5921|���
a” x-morph=”OSHM:HR”�����������/���|strong=”d/4196” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1” strong=”c/7760|��/�����/�� a” x-morph=”OSHM:HC/Vqq3ms/Sp3ms”
x-cantillationLevel=”0.1” ”strong=”681|������ x-morph=”OSHM:HR” x-
cantillationLevel=”0.0” ”strong=”d/4196|�����������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0”� 4 15 KJV:Lev.6.11 ”strong=”c/6584|�������/��
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181 BHS has been faithful to the Leningrad Codex where there might be a question of the validity
of the form and we keep the same form as BHS.
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”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”4725” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.0” ”strong=”2931|������ x-morph=”OSHM:HAamsa”
x-cantillationLevel=”0”� 41 ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”�������/���|strong=”d/1004
b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0.0” strong=”7106|���������
a” x-morph=”OSHM:HVhi3ms” strong=”m/1004|�������/�� b” x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”1.0” ”strong=”5439|������� x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”1” ”strong=”c/8210|���������/�� x-morph=”OSHM:HC/Vqq3cp”
x-cantillationLevel=”0.2.1” ”strong=”853|��� x-morph=”OSHM:HTo”������/����|strong=”d/6083”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.2.0” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”7096|�������� x-morph=”OSHM:HVhp3cp”
x-cantillationLevel=”0.2” ”strong=”413|��� x-morph=”OSHM:HR”�����/���|strong=”m/2351”
x-morph=”OSHM:HR/Ncmsa” strong=”l/5892|�����/�� b” x-morph=”OSHM:HRd/Ncfsa”
x-cantillationLevel=”0.1” ”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”4725”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0” ”strong=”2931|������
x-morph=”OSHM:HAamsa” x-cantillationLevel=”0”� 42 ”strong=”c/3947|��������/��
x-morph=”OSHM:HC/Vqq3cp” x-cantillationLevel=”1.1.0” ”strong=”68|���������
x-morph=”OSHM:HNcfpa” ”strong=”312|��������� x-morph=”OSHM:HAafpa”
x-cantillationLevel=”1.1” ”strong=”c/935|���������/�� x-morph=”OSHM:HC/Vhq3cp”
x-cantillationLevel=”1.0” ”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”8478”
x-morph=”OSHM:HR” ”strong=”d/68|���������/�� x-morph=”OSHM:HTd/Ncfpa”
x-cantillationLevel=”1” ”strong=”c/6083|������/�� x-morph=”OSHM:HC/Ncmsa”
”strong=”312|������ x-morph=”OSHM:HAamsa” x-cantillationLevel=”0.0.0”
”strong=”3947|������� x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”0.0”
strong=”c/2902|����/�� a” x-morph=”OSHM:HC/Vqq3ms” ”strong=”853|���
x-morph=”OSHM:HTo”�������/���|strong=”d/1004 b” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0”� 43 strong=”c/518|���/�� a” x-morph=”OSHM:HC/C”���������|strong=”7725”
x-morph=”OSHM:HVqi3ms” ”strong=”d/5061|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1.0” strong=”c/6524|������/�� b” x-morph=”OSHM:HC/Vqq3ms”
strong=”b/1004|�������/��� b” x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.1”
strong=”310|������ a” x-morph=”OSHM:HR” x-cantillationLevel=”1.0” strong=”2502|�������
a” x-morph=”OSHM:HVpp3ms” ”strong=”853|��� x-morph=”OSHM:HTo”���������/���|strong=”d/68”
x-morph=”OSHM:HTd/Ncfpa” x-cantillationLevel=”1” strong=”c/310|��������/��
a” x-morph=”OSHM:HC/R” x-cantillationLevel=”0.0.0” ”strong=”7096|���������
x-morph=”OSHM:HVhc” ”strong=”853|��� x-morph=”OSHM:HTo”�������/���|strong=”d/1004
b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0” strong=”c/310|��������/��
a” x-morph=”OSHM:HC/R” strong=”2902|��������� a” x-morph=”OSHM:HVNc”
x-cantillationLevel=”0”� 44 ”strong=”c/935|����/�� x-morph=”OSHM:HC/Vqq3ms”
x-cantillationLevel=”1.2.0” ”strong=”d/3548|�������/�� x-morph=”OSHM:HTd/Ncmsa”
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x-cantillationLevel=”1.2” ”strong=”c/7200|������/�� x-morph=”OSHM:HC/Vqq3ms”
x-cantillationLevel=”1.1” ”strong=”c/2009|�������/�� x-morph=”OSHM:HC/Tm”
x-cantillationLevel=”1.0.0” ”strong=”6581|�������� x-morph=”OSHM:HVqp3ms”
”strong=”d/5061|�������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0”
strong=”b/1004|�������/��� b” x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1”
”strong=”6883|�������� x-morph=”OSHM:HNcfsa” ”strong=”3992|����������
x-morph=”OSHM:HVhrfsa” ”strong=”1931|����� x-morph=”OSHM:HPp3fs”
x-cantillationLevel=”0.0.0” strong=”b/1004|�������/��� b” x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”0.0” ”strong=”2931|������ x-morph=”OSHM:HAamsa”
”strong=”1931|����� x-morph=”OSHM:HPp3ms” x-cantillationLevel=”0”�
45 ”strong=”c/5422|������/�� x-morph=”OSHM:HC/Vqq3ms” ”strong=”853|���
x-morph=”OSHM:HTo”�������/���|strong=”d/1004 b” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1.1” ”strong=”853|��� x-morph=”OSHM:HTo”��/��������|strong=”68”
x-morph=”OSHM:HNcfpc/Sp3ms” x-cantillationLevel=”1.1.0” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”�/�������|strong=”6086” x-morph=”OSHM:HNcmpc/Sp3ms”
x-cantillationLevel=”1.1” ”strong=”c/853|����/�� x-morph=”OSHM:HC/To”
x-cantillationLevel=”1.0” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”�������|strong=”6083”
x-morph=”OSHM:HNcmsc” strong=”d/1004|�������/�� b” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1” ”strong=”c/3318|��������/�� x-morph=”OSHM:HC/Vhq3ms”
x-cantillationLevel=”0.1.0” ”strong=”413|��� x-morph=”OSHM:HR”�����/���|strong=”m/2351”
x-morph=”OSHM:HR/Ncmsa” strong=”l/5892|�����/�� b” x-morph=”OSHM:HRd/Ncfsa”
x-cantillationLevel=”0.1” ”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”4725”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0” ”strong=”2931|������
x-morph=”OSHM:HAamsa” x-cantillationLevel=”0”� 46 ”strong=”c/d/935|�����/��/��
x-morph=”OSHM:HC/Td/Vqrmsa” x-cantillationLevel=”1.1.0” ”strong=”413|���
x-morph=”OSHM:HR”�������/���|strong=”d/1004 b” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”�������|strong=”3117”
x-morph=”OSHM:HNcmpc” x-cantillationLevel=”1.0” ”strong=”5462|����������
x-morph=”OSHM:HVhp3ms” ”strong=”853|��/���� x-morph=”OSHM:HTo/Sp3ms”
x-cantillationLevel=”1” strong=”2930|�������� a” x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”0.0” ”strong=”5704|��� x-morph=”OSHM:HR”������/���|strong=”d/6153”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”� 47 ”strong=”c/d/7901|��������/��/��
x-morph=”OSHM:HC/Td/Vqrmsa” strong=”b/1004|�������/��� b” x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”1.1” ”strong=”3526|��������� x-morph=”OSHM:HVpi3ms”
x-cantillationLevel=”1.0” ”strong=”853|��� x-morph=”OSHM:HTo”�/����������|strong=”899
b” x-morph=”OSHM:HNcmpc/Sp3ms” x-cantillationLevel=”1” ”strong=”c/d/398|������/��/��
x-morph=”OSHM:HC/Td/Vqrmsa” strong=”b/1004|�������/��� b” x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”0.1” ”strong=”3526|��������� x-morph=”OSHM:HVpi3ms”
x-cantillationLevel=”0.0” ”strong=”853|��� x-morph=”OSHM:HTo”�/����������|strong=”899
b” x-morph=”OSHM:HNcmpc/Sp3ms” x-cantillationLevel=”0”� 48 strong=”c/518|���/��
a” x-morph=”OSHM:HC/C”������|strong=”935” x-morph=”OSHM:HVqa”
”strong=”935|������ x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”1.1.2.0”
”strong=”d/3548|�������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.2”
”strong=”c/7200|������/�� x-morph=”OSHM:HC/Vqq3ms” x-cantillationLevel=”1.1.1”
”strong=”c/2009|������/��� x-morph=”OSHM:HC/Tm” x-cantillationLevel=”1.1.0.0”
”strong=”3808|��� x-morph=”OSHM:HTn”��������|strong=”6581” x-
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morph=”OSHM:HVqp3ms” ”strong=”d/5061|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1.0” strong=”b/1004|�������/��� b” x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”1.1” strong=”310|�������� a” x-morph=”OSHM:HR”
x-cantillationLevel=”1.0” strong=”2902|�������� a” x-morph=”OSHM:HVNc”
”strong=”853|��� x-morph=”OSHM:HTo”�������/���|strong=”d/1004
b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1” ”strong=”c/2891|������/��
x-morph=”OSHM:HC/Vpq3ms” ”strong=”d/3548|�������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.1.0” ”strong=”853|��� x-morph=”OSHM:HTo”�������/���|strong=”d/1004
b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”7495|��������� x-morph=”OSHM:HVNp3ms”
x-cantillationLevel=”0.0” ”strong=”d/5061|�������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0”� 39 We read one or more vowels in L differently from
BHS. 49 ”strong=”c/3947|������/�� x-morph=”OSHM:HC/Vqq3ms” x-
cantillationLevel=”1.0.0” ”strong=”l/2398|�������/�� x-morph=”OSHM:HR/Vpc”
”strong=”853|��� x-morph=”OSHM:HTo”�������/���|strong=”d/1004
b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0” ”strong=”8147|��������
x-morph=”OSHM:HAcfdc” ”strong=”6833|���������� x-morph=”OSHM:HNcbpa”
x-cantillationLevel=”1” ”strong=”c/6086|����/�� x-morph=”OSHM:HC/Ncmsc”
”strong=”730|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1”
”strong=”c/8144|�������/�� x-morph=”OSHM:HC/Ncmsc” strong=”8438|���������
b” x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.0” ”strong=”c/231|������/��
x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”0”� 50 strong=”c/7819|�������/��
a” x-morph=”OSHM:HC/Vqq3ms” x-cantillationLevel=”1.0” ”strong=”853|���
x-morph=”OSHM:HTo”��������/���|strong=”d/6833” x-morph=”OSHM:HTd/Ncbsa”
”strong=”d/259|������/�� x-morph=”OSHM:HTd/Acfsa” x-cantillationLevel=”1”
”strong=”413|��� x-morph=”OSHM:HR”�������|strong=”3627” x-morph=”OSHM:HNcmsc”��������|strong=”2789”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0” strong=”5921|��� a”
x-morph=”OSHM:HR”�������|strong=”4325” x-morph=”OSHM:HNcmpa”
strong=”2416|�������� a” x-morph=”OSHM:HAampa” x-cantillationLevel=”0”�
51 ”strong=”c/3947|������/�� x-morph=”OSHM:HC/Vqq3ms” ”strong=”853|���
x-morph=”OSHM:HTo”�����|strong=”6086” x-morph=”OSHM:HNcmsc”�����/����|strong=”d/730”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.2.1.2” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”������/����|strong=”d/231” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.2.1.1” ”strong=”c/853|����/�� x-morph=”OSHM:HC/To”
x-cantillationLevel=”1.2.1.0” � ”strong=”8144|������� x-morph=”OSHM:HNcmsc”
strong=”d/8438|����������/�� b” x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.2.1”
”strong=”c/853|����/�� x-morph=”OSHM:HC/To” x-cantillationLevel=”1.2.0”
”strong=”d/6833|��������/�� x-morph=”OSHM:HTd/Ncbsa” strong=”d/2416|�������/���
a” x-morph=”OSHM:HTd/Aafsa” x-cantillationLevel=”1.2” ”strong=”c/2881|������/��
x-morph=”OSHM:HC/Vqq3ms” ”strong=”853|�/����� x-morph=”OSHM:HTo/Sp3mp”
x-cantillationLevel=”1.1.1” ”strong=”b/1818|����/��� x-morph=”OSHM:HR/Ncmsc”
x-cantillationLevel=”1.1.0” ”strong=”d/6833|��������/�� x-morph=”OSHM:HTd/Ncbsa”
strong=”d/7819|�����������/�� a” x-morph=”OSHM:HTd/Vqsfsa” x-
cantillationLevel=”1.1” ”strong=”c/b/4325|�������/��/�� x-morph=”OSHM:HC/Rd/Ncmpa”
39v
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x-cantillationLevel=”1.0” strong=”d/2416|��������/��� a” x-morph=”OSHM:HTd/Aampa”
x-cantillationLevel=”1” strong=”c/5137|�������/�� a” x-morph=”OSHM:HC/Vhq3ms”
”strong=”413|��� x-morph=”OSHM:HR”�������/���|strong=”d/1004
b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0” ”strong=”7651|�������
x-morph=”OSHM:HAcfsa” ”strong=”6471|���������� x-morph=”OSHM:HNcfpa”
x-cantillationLevel=”0”� 52 ”strong=”c/2398|�������/�� x-morph=”OSHM:HC/Vpq3ms”
”strong=”853|��� x-morph=”OSHM:HTo”�������/���|strong=”d/1004
b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.2” ”strong=”b/1818|����/���
x-morph=”OSHM:HR/Ncmsc” x-cantillationLevel=”1.1.0” ”strong=”d/6833|���������/��
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1.1” ”strong=”c/b/4325|�������/��/��
x-morph=”OSHM:HC/Rd/Ncmpa” x-cantillationLevel=”1.0” strong=”d/2416|��������/���
a” x-morph=”OSHM:HTd/Aampa” x-cantillationLevel=”1” ”strong=”c/b/6833|��������/��/��
x-morph=”OSHM:HC/Rd/Ncbsa” strong=”d/2416|�������/�� a” x-morph=”OSHM:HTd/Aafsa”
x-cantillationLevel=”0.0.1” ”strong=”c/b/6086|����/��/�� x-morph=”OSHM:HC/R/Ncmsc”
”strong=”d/730|������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0.0”
”strong=”c/b/231|������/��/�� x-morph=”OSHM:HC/Rd/Ncmsa” x-cantillationLevel=”0.0”
”strong=”c/b/8144|�������/��/�� x-morph=”OSHM:HC/R/Ncmsc” strong=”d/8438|����������/��
b” x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0”� 53 ”strong=”c/7971|��������/��
x-morph=”OSHM:HC/Vpq3ms” x-cantillationLevel=”1.0.0.0” ”strong=”853|���
x-morph=”OSHM:HTo”��������/���|strong=”d/6833” x-morph=”OSHM:HTd/Ncbsa”
strong=”d/2416|�������/��� a” x-morph=”OSHM:HTd/Aafsa” x-cantillationLevel=”1.0.0”
”strong=”413|��� x-morph=”OSHM:HR”�����/���|strong=”m/2351” x-
morph=”OSHM:HR/Ncmsa” strong=”l/5892|�����/�� b” x-morph=”OSHM:HRd/Ncfsa”
x-cantillationLevel=”1.0” ”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”6440”
x-morph=”OSHM:HNcbpc” strong=”d/7704|��������/�� b” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1” strong=”c/3722|�������/�� a” x-morph=”OSHM:HC/Vpq3ms”
strong=”5921|��� a” x-morph=”OSHM:HR”�������/���|strong=”d/1004
b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0” ”strong=”c/2891|������/��
x-morph=”OSHM:HC/Vqq3ms” x-cantillationLevel=”0”� 54 ”strong=”2063|�����
x-morph=”OSHM:HPdxfs” x-cantillationLevel=”1.0” ”strong=”d/8451|��������/��
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1” ”strong=”l/3605|���/��
x-morph=”OSHM:HR/Ncmsc”�������|strong=”5061” x-morph=”OSHM:HNcmsc”
”strong=”d/6883|���������/�� x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.0”
”strong=”c/l/5424|�������/��/�� x-morph=”OSHM:HC/Rd/Ncmsa” x-
cantillationLevel=”0”� 55 ”strong=”c/l/6883|��������/��/�� x-morph=”OSHM:HC/R/Ncfsc”
strong=”d/899|�������/�� b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0”
strong=”c/l/1004|�������/��/�� b” x-morph=”OSHM:HC/Rd/Ncmsa” x-
cantillationLevel=”0”� 56 ”strong=”c/l/7613|�������/��/�� x-morph=”OSHM:HC/Rd/Ncfsa”
”strong=”c/l/5597|����������/��/�� x-morph=”OSHM:HC/Rd/Ncfsa”
x-cantillationLevel=”0.0” ”strong=”c/l/934|���������/��/�� x-morph=”OSHM:HC/Rd/Ncfsa”
x-cantillationLevel=”0”� 57 strong=”l/3384|�������/�� b” x-morph=”OSHM:HR/Vhc”
x-cantillationLevel=”1.1” ”strong=”b/3117|�����/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”d/2931|�������/�� x-morph=”OSHM:HTd/Aamsa” x-cantillationLevel=”1.0”
”strong=”c/b/3117|�����/��/�� x-morph=”OSHM:HC/R/Ncmsc” ”strong=”d/2889|�������/��
x-morph=”OSHM:HTd/Aamsa” x-cantillationLevel=”1” ”strong=”2063|�����
x-morph=”OSHM:HPdxfs” ”strong=”8451|�������� x-morph=”OSHM:HNcfsc”
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x-cantillationLevel=”0.0” ”strong=”d/6883|���������/�� x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”0”� �15 ”strong=”c/1696|���������/�� x-morph=”OSHM:HC/Vpw3ms”

”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”4872”

x-morph=”OSHM:HNp” ”strong=”c/413|����/�� x-morph=”OSHM:HC/R”���������|strong=”175”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”l/559|�����/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0”� 2 ”strong=”1696|����������
x-morph=”OSHM:HVpv2mp” x-cantillationLevel=”1.1.0” ”strong=”413|���
x-morph=”OSHM:HR”��������|strong=”1121 a” x-morph=”OSHM:HNcmpc”
”strong=”3478|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”c/559|�����������/�� x-morph=”OSHM:HC/Vqq2mp” x-cantillationLevel=”1.0”
”strong=”413|����/���� x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1”
”strong=”376|������ x-morph=”OSHM:HNcmsa” ”strong=”376|������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1.1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”1961|�������� x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”0.1.0” ”strong=”2100|���� x-morph=”OSHM:HVqrmsa”
”strong=”m/1320|��/��������/�� x-morph=”OSHM:HR/Ncmsc/Sp3ms”
x-cantillationLevel=”0.1” ”strong=”2101|��/����� x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”2931|������ x-morph=”OSHM:HAamsa”
”strong=”1931|����� x-morph=”OSHM:HPp3ms” x-cantillationLevel=”0”�
3 ”strong=”c/2063|�����/�� x-morph=”OSHM:HC/Pdxfs” x-cantillationLevel=”1.0.0”
”strong=”1961|��������� x-morph=”OSHM:HVqi3fs” ”strong=”2932|��/��������
x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”1.0” ”strong=”b/2101|��/�����/���
x-morph=”OSHM:HR/Ncmsc/Sp3ms” x-cantillationLevel=”1” ”strong=”7325|����
x-morph=”OSHM:HVqp3ms” ”strong=”1320|��/�������� x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0.1.1.0” ”strong=”853|��� x-morph=”OSHM:HTo”��/������|strong=”2101”
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x-cantillationLevel=”1.0” ”strong=”1961|��������� x-morph=”OSHM:HVqi3fs”
”strong=”l|����/�� x-morph=”OSHM:HR/Sp2mp” x-cantillationLevel=”1”
strong=”4480|��� a” x-morph=”OSHM:HR”��������/����|strong=”d/7704
b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1” ”strong=”398|����������
x-morph=”OSHM:HVqi2mp” x-cantillationLevel=”0.0” ”strong=”853|��� x-
morph=”OSHM:HTo”��/������������|strong=”8393” x-morph=”OSHM:HNcfsc/Sp3fs”
x-cantillationLevel=”0”� 13 ”strong=”b/8141|�������/��� x-morph=”OSHM:HR/Ncfsc”
”strong=”d/3104|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0”
”strong=”d/2063|������/�� x-morph=”OSHM:HTd/Pdxfs” x-cantillationLevel=”1”
”strong=”7725|���������� x-morph=”OSHM:HVqi2mp” x-cantillationLevel=”0.1”
”strong=”376|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0”
”strong=”413|��� x-morph=”OSHM:HR”��/����������|strong=”272”
x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”0”� 14 strong=”c/3588|����/��
a” x-morph=”OSHM:HC/C”������������|strong=”4376” x-morph=”OSHM:HVqi2mp”
”strong=”4465|��������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1.0”
”strong=”l/5997|��/��������/�� x-morph=”OSHM:HR/Ncmsc/Sp2ms”
x-cantillationLevel=”1.1” strong=”176|���� a” x-morph=”OSHM:HC” ”strong=”7069|������
x-morph=”OSHM:HVqa” x-cantillationLevel=”1.0” ”strong=”m/3027|�����/��
x-morph=”OSHM:HR/Ncbsc” ”strong=”5997|��/�������� x-morph=”OSHM:HNcmsc/Sp2ms”
x-cantillationLevel=”1” ”strong=”408|��� x-morph=”OSHM:HTn”���������|strong=”3238”
x-morph=”OSHM:HVhj2mp” x-cantillationLevel=”0.0” ”strong=”376|������
x-morph=”OSHM:HNcmsa” ”strong=”853|��� x-morph=”OSHM:HTo”�/�������|strong=”251”
x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0”� 15 ”strong=”b/4557|���������/���
x-morph=”OSHM:HR/Ncmsc” ”strong=”8141|�������� x-morph=”OSHM:HNcfpa”
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x-cantillationLevel=”1.1.0” strong=”310|������ a” x-morph=”OSHM:HR”
”strong=”d/3104|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1”
”strong=”7069|��������� x-morph=”OSHM:HVqi2ms” x-cantillationLevel=”1.0”
”strong=”m/854|����/�� x-morph=”OSHM:HR/R” ”strong=”5997|��/��������
x-morph=”OSHM:HNcmsc/Sp2ms” x-cantillationLevel=”1” ”strong=”b/4557|���������/���
x-morph=”OSHM:HR/Ncmsc” ”strong=”8141|������� x-morph=”OSHM:HAcmdc”����������|strong=”8393”
x-morph=”OSHM:HNcfpa” x-cantillationLevel=”0.0” ”strong=”4376|��������
x-morph=”OSHM:HVqi3ms”��/����|strong=”l” x-morph=”OSHM:HR/Sp2fs”
x-cantillationLevel=”0”� 16 ”strong=”l/6310|����/�� x-morph=”OSHM:HR/Ncmsc”
x-cantillationLevel=”1.2.1.0” � ”strong=”7230|���� x-morph=”OSHM:HNcbsc”
”strong=”d/8141|���������/�� x-morph=”OSHM:HTd/Ncfpa” x-cantillationLevel=”1.2.1”
strong=”7235|���������� a” x-morph=”OSHM:HVhi2ms” x-cantillationLevel=”1.2.0”
”strong=”4736|��/�������� x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”1.2”
”strong=”c/l/6310|����/��/�� x-morph=”OSHM:HC/R/Ncmsc” x-cantillationLevel=”1.1.0”
”strong=”4591|������ x-morph=”OSHM:HVqc” ”strong=”d/8141|���������/��
x-morph=”OSHM:HTd/Ncfpa” x-cantillationLevel=”1.1” ”strong=”4591|����������
x-morph=”OSHM:HVhi2ms” x-cantillationLevel=”1.0” ”strong=”4736|��/��������
x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC” x-cantillationLevel=”0.1.0” ”strong=”4557|���������
x-morph=”OSHM:HNcmsc” ”strong=”8393|���������� x-morph=”OSHM:HNcfpa”
x-cantillationLevel=”0.1” ”strong=”1931|����� x-morph=”OSHM:HPp3ms”
”strong=”4376|������ x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”0.0”
”strong=”l|��/��� x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”0”�
17 ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn” ”strong=”3238|�������
x-morph=”OSHM:HVhi2mp” x-cantillationLevel=”1.1.0” ”strong=”376|������
x-morph=”OSHM:HNcmsa” ”strong=”853|��� x-morph=”OSHM:HTo”��/��������|strong=”5997”
x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1.1” ”strong=”c/3372|��������/��
x-morph=”OSHM:HC/Vqq2ms” x-cantillationLevel=”1.0” ”strong=”m/430|��/��������/���
x-morph=”OSHM:HR/Ncmpc/Sp2ms” x-cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC” x-cantillationLevel=”0.0.0” ”strong=”589|������
x-morph=”OSHM:HPp1cs” ”strong=”3068|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0” ”strong=”430|����/������� x-morph=”OSHM:HNcmpc/Sp2mp”
x-cantillationLevel=”0”� 18 strong=”c/6213|����������/�� a” x-morph=”OSHM:HC/Vqq2mp”
x-cantillationLevel=”1.1.0” ”strong=”853|��� x-morph=”OSHM:HTo”�/���������|strong=”2708”
x-morph=”OSHM:HNcbpc/Sp1cs” x-cantillationLevel=”1.1” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”�/������������|strong=”4941” x-morph=”OSHM:HNcmpc/Sp1cs”
”strong=”8104|������������ x-morph=”OSHM:HVqi2mp” x-cantillationLevel=”1.0”
strong=”c/6213|����������/�� a” x-morph=”OSHM:HC/Vqq2mp” ”strong=”853|�/�����
x-morph=”OSHM:HTo/Sp3mp” x-cantillationLevel=”1” ”strong=”c/3427|�����������/���
x-morph=”OSHM:HC/Vqq2mp” strong=”5921|��� a” x-morph=”OSHM:HR”������/���|strong=”d/776”
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0.0” ”strong=”l/983|������/��
x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0”� 19 ”strong=”c/5414|��������/��
x-morph=”OSHM:HC/Vqq3fs” ”strong=”d/776|�������/�� x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”1.1.0” ”strong=”6529|��/�������� x-morph=”OSHM:HNcmsc/Sp3fs”
x-cantillationLevel=”1.1” ”strong=”c/398|�����������/�� x-morph=”OSHM:HC/Vqq2mp”
x-cantillationLevel=”1.0” ”strong=”l/7648|�������/�� x-morph=”OSHM:HR/Ncmsa”
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x-cantillationLevel=”1” ”strong=”c/3427|�����������/��� x-morph=”OSHM:HC/Vqq2mp”
”strong=”l/983|������/�� x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0.0”
strong=”5921|��/������ a” x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”0”�
20 strong=”c/3588|����/�� a” x-morph=”OSHM:HC/C” ”strong=”559|���������
x-morph=”OSHM:HVqi2mp” x-cantillationLevel=”1.1” ”strong=”4100|���
x-morph=”OSHM:HTi”����������|strong=”398” x-morph=”OSHM:HVqi1cp”
x-cantillationLevel=”1.0” 46 We read one or more accents in L differently
than BHS. Often this notation indicates a typographical error in BHS. 47
”strong=”b/8141|��������/��� x-morph=”OSHM:HRd/Ncfsa” ”strong=”d/7637|�����������/��
x-morph=”OSHM:HTd/Aofsa” x-cantillationLevel=”1” ”strong=”2005|����
x-morph=”OSHM:HTm” x-cantillationLevel=”0.1.0” ”strong=”3808|���� x-
morph=”OSHM:HTn” ”strong=”2232|�������� x-morph=”OSHM:HVqi1cp”
x-cantillationLevel=”0.1” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
”strong=”622|�������� x-morph=”OSHM:HVqi1cp” x-cantillationLevel=”0.0”
”strong=”853|��� x-morph=”OSHM:HTo”���/������������|strong=”8393”
x-morph=”OSHM:HNcfsc/Sp1cp” x-cantillationLevel=”0”� 21 ”strong=”c/6680|����������/��
x-morph=”OSHM:HC/Vpq1cs” ”strong=”853|��� x-morph=”OSHM:HTo”��/����������|strong=”1293”
x-morph=”OSHM:HNcfsc/Sp1cs” x-cantillationLevel=”1.1.0” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp2mp” x-cantillationLevel=”1.1” ”strong=”b/8141|��������/���
x-morph=”OSHM:HRd/Ncfsa” x-cantillationLevel=”1.0” ”strong=”d/8345|�����������/��
x-morph=”OSHM:HTd/Aofsa” x-cantillationLevel=”1” strong=”c/6213|�������/��
a” x-morph=”OSHM:HC/Vqq3fs” x-cantillationLevel=”0.1.0” ”strong=”853|���
x-morph=”OSHM:HTo”����������/���|strong=”d/8393” x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”0.1” ”strong=”l/7969|��������/�� x-morph=”OSHM:HR/Acfsa”
x-cantillationLevel=”0.0” ”strong=”d/8141|���������/�� x-morph=”OSHM:HTd/Ncfpa”
x-cantillationLevel=”0”� 22 ”strong=”c/2232|�����������/�� x-morph=”OSHM:HC/Vqq2mp”
x-cantillationLevel=”1.1.1” ”strong=”853|���� x-morph=”OSHM:HTo” x-
cantillationLevel=”1.1.0” ”strong=”d/8141|��������/�� x-morph=”OSHM:HTd/Ncfsa”
”strong=”d/8066|�����������/�� x-morph=”OSHM:HTd/Aofsa” x-cantillationLevel=”1.1”
”strong=”c/398|�����������/�� x-morph=”OSHM:HC/Vqq2mp” x-cantillationLevel=”1.0”
strong=”4480|��� a” x-morph=”OSHM:HR”����������/���|strong=”d/8393”
x-morph=”OSHM:HTd/Ncfsa” ”strong=”3465|������� x-morph=”OSHM:HAamsa”
x-cantillationLevel=”1” ”strong=”5704|���� x-morph=”OSHM:HR” x-cantillationLevel=”0.1.1.0”
� ”strong=”d/8141|��������/�� x-morph=”OSHM:HTd/Ncfsa” ”strong=”d/8671|�����������/��
x-morph=”OSHM:HTd/Aofsa” x-cantillationLevel=”0.1.1” ”strong=”5704|���
x-morph=”OSHM:HR”�������|strong=”935” x-morph=”OSHM:HVqc” x-
cantillationLevel=”0.1.0” ”strong=”8393|��/������������ x-morph=”OSHM:HNcfsc/Sp3fs”
x-cantillationLevel=”0.1” ”strong=”398|���������� x-morph=”OSHM:HVqi2mp”
x-cantillationLevel=”0.0” ”strong=”3465|������� x-morph=”OSHM:HAamsa”
x-cantillationLevel=”0”� 23 ”strong=”c/d/776|������/��/�� x-morph=”OSHM:HC/Td/Ncbsa”
x-cantillationLevel=”1.1.1” ”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”4376|���������
x-morph=”OSHM:HVNi3fs” x-cantillationLevel=”1.1.0” ”strong=”l/6783|��������/��
x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”1.1” strong=”3588|����

46c
47n Marks an anomalous form.
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a” x-morph=”OSHM:HC”�/����|strong=”l” x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”1.0” ”strong=”d/776|������/�� x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”1” strong=”3588|����� a” x-morph=”OSHM:HC”��������|strong=”1616”
x-morph=”OSHM:HNcmpa” strong=”c/8453|�����������/�� a” x-morph=”OSHM:HC/Ncmpa”
x-cantillationLevel=”0.0.0” strong=”859|������� d” x-morph=”OSHM:HPp2mp”
x-cantillationLevel=”0.0” ”strong=”5978|�/�������� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”0”� 24 ”strong=”c/b/3605|����/��/�� x-morph=”OSHM:HC/R/Ncmsc”
x-cantillationLevel=”1.0” ”strong=”776|������ x-morph=”OSHM:HNcbsc”
”strong=”272|����/��������� x-morph=”OSHM:HNcfsc/Sp2mp” x-cantillationLevel=”1”
”strong=”1353|���������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.0”
”strong=”5414|���������� x-morph=”OSHM:HVqi2mp” ”strong=”l/776|������/��
x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”0”� � 25 strong=”3588|�����
a” x-morph=”OSHM:HC”���������|strong=”4134” x-morph=”OSHM:HVqi3ms”
”strong=”251|��/������ x-morph=”OSHM:HNcmsc/Sp2ms” x-cantillationLevel=”1.1”
”strong=”c/4376|������/�� x-morph=”OSHM:HC/Vqq3ms” x-cantillationLevel=”1.0”
”strong=”m/272|��/���������/�� x-morph=”OSHM:HR/Ncfsc/Sp3ms”
x-cantillationLevel=”1” ”strong=”c/935|����/�� x-morph=”OSHM:HC/Vqq3ms”
strong=”1350|���/������ a” x-morph=”OSHM:HVqrmsc/Sp3ms” x-cantillationLevel=”0.2.0”
”strong=”d/7138|�������/�� x-morph=”OSHM:HTd/Aamsa” ”strong=”413|�/������
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.2” strong=”c/1350|������/��
a” x-morph=”OSHM:HC/Vqq3ms” x-cantillationLevel=”0.1” ”strong=”853|����
x-morph=”OSHM:HTo” x-cantillationLevel=”0.0” ”strong=”4465|���������
x-morph=”OSHM:HNcmsc” ”strong=”251|�/������ x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0”� 26 ”strong=”c/376|������/�� x-morph=”OSHM:HC/Ncmsa”
x-cantillationLevel=”1.1” strong=”3588|����� a” x-morph=”OSHM:HC” x-
cantillationLevel=”1.0.0” ”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”1961|��������
x-morph=”OSHM:HVqi3ms”��/����|strong=”l” x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1.0” strong=”1350|������� a” x-morph=”OSHM:HVqrmsa”
x-cantillationLevel=”1” ”strong=”c/5381|�����������/�� x-morph=”OSHM:HC/Vhq3fs”
”strong=”3027|��/���� x-morph=”OSHM:HNcbsc/Sp3ms” x-cantillationLevel=”0.1”
”strong=”c/4672|������/�� x-morph=”OSHM:HC/Vqq3ms” x-cantillationLevel=”0.0”
”strong=”k/1767|����/��� x-morph=”OSHM:HR/Ncmsc” ”strong=”1353|��/���������
x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”0”� 27 ”strong=”c/2803|��������/��
x-morph=”OSHM:HC/Vpq3ms” x-cantillationLevel=”1.2.0” ”strong=”853|���
x-morph=”OSHM:HTo”��������|strong=”8141” x-morph=”OSHM:HAcmdc”
”strong=”4465|��/��������� x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1.2”
”strong=”c/7725|��������/�� x-morph=”OSHM:HC/Vhq3ms” x-cantillationLevel=”1.1.0”
”strong=”853|��� x-morph=”OSHM:HTo”������/����|strong=”d/5736”
x-morph=”OSHM:HTd/Vqrmsa” x-cantillationLevel=”1.1” ”strong=”l/376|������/��
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.0” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”4376|������ x-morph=”OSHM:HVqp3ms”��/���|strong=”l”
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1” ”strong=”c/7725|�����/��
x-morph=”OSHM:HC/Vqq3ms” x-cantillationLevel=”0.0” ”strong=”l/272|��/���������/��
x-morph=”OSHM:HR/Ncfsc/Sp3ms” x-cantillationLevel=”0”� 28 strong=”c/518|����/��
a” x-morph=”OSHM:HC/C” ”strong=”3808|���� x-morph=”OSHM:HTn”����������|strong=”4672”
x-morph=”OSHM:HVqp3fs” x-cantillationLevel=”1.2.1.0” ”strong=”3027|��/����



194 CONTENTS

x-morph=”OSHM:HNcbsc/Sp3ms” x-cantillationLevel=”1.2.1” ”strong=”1767|�����
x-morph=”OSHM:HNcmsc” x-cantillationLevel=”1.2.0” ”strong=”7725|��������
x-morph=”OSHM:HVhc” ”strong=”l|���/� x-morph=”OSHM:HR/Sp3ms” x-
cantillationLevel=”1.2” ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqq3ms”
”strong=”4465|��/��������� x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1.1.1”
”strong=”b/3027|����/��� x-morph=”OSHM:HR/Ncbsc” x-cantillationLevel=”1.1.0”
”strong=”d/7069|�������/�� x-morph=”OSHM:HTd/Vqrmsa” ”strong=”853|��/����
x-morph=”OSHM:HTo/Sp3ms” x-cantillationLevel=”1.1” ”strong=”5704|����
x-morph=”OSHM:HR” x-cantillationLevel=”1.0” ”strong=”8141|�������
x-morph=”OSHM:HNcfsc” ”strong=”d/3104|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1” ”strong=”c/3318|������/�� x-morph=”OSHM:HC/Vqq3ms”
x-cantillationLevel=”0.1.0” ”strong=”b/3104|�������/��� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”0.1” ”strong=”c/7725|�����/�� x-morph=”OSHM:HC/Vqq3ms”
x-cantillationLevel=”0.0” ”strong=”l/272|��/���������/�� x-morph=”OSHM:HR/Ncfsc/Sp3ms”
x-cantillationLevel=”0”� 29 ”strong=”c/376|������/�� x-morph=”OSHM:HC/Ncmsa”
x-cantillationLevel=”1.2.1” strong=”3588|����� a” x-morph=”OSHM:HC”����������|strong=”4376”
x-morph=”OSHM:HVqi3ms” strong=”1004|����� b” x-morph=”OSHM:HNcmsc”���������|strong=”4186”
x-morph=”OSHM:HNcmsc” x-cantillationLevel=”1.2.0” strong=”5892|�����
b” x-morph=”OSHM:HNcfsa” ”strong=”2346|������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1.2” ”strong=”c/1961|��������/�� x-morph=”OSHM:HC/Vqp3fs”
x-cantillationLevel=”1.1.0” ”strong=”1353|��/���������� x-morph=”OSHM:HNcfsc/Sp3ms”
x-cantillationLevel=”1.1” ”strong=”5704|��� x-morph=”OSHM:HR”������|strong=”8537”
x-morph=”OSHM:HVqc” x-cantillationLevel=”1.0” ”strong=”8141|�������
x-morph=”OSHM:HNcfsc” ”strong=”4465|��/��������� x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”1” ”strong=”3117|������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0.0” ”strong=”1961|��������� x-morph=”OSHM:HVqi3fs”
”strong=”1353|��/��������� x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”0”�
30 strong=”c/518|����/�� a” x-morph=”OSHM:HC/C” ”strong=”3808|����
x-morph=”OSHM:HTn”����������|strong=”1350 a” x-morph=”OSHM:HVNi3ms”
x-cantillationLevel=”1.1.1” ”strong=”5704|��� x-morph=”OSHM:HR”��������|strong=”4390”
x-morph=”OSHM:HVqc” ”strong=”l|���/� x-morph=”OSHM:HR/Sp3ms” x-
cantillationLevel=”1.1.0” ”strong=”8141|������� x-morph=”OSHM:HNcfsa”
”strong=”8549|��������� x-morph=”OSHM:HAafsa” x-cantillationLevel=”1.1”
strong=”c/6965|���/��� b” x-morph=”OSHM:HC/Vqp3ms” x-cantillationLevel=”1.0.1.1”
strong=”d/1004|�������/�� b” x-morph=”OSHM:HTd/Ncmsa” strong=”834|������
a” x-morph=”OSHM:HTr”�����/����|strong=”b/5892 b” x-morph=”OSHM:HRd/Ncfsa”
x-cantillationLevel=”1.0.1.0” strong=”834|������ a” x-morph=”OSHM:HTr”���|strong=”3808”
x-morph=”OSHM:HTn” x-wType=”x-ketiv” 48 ”strong=”2346|������ x-
morph=”OSHM:HNcfsa” x-cantillationLevel=”1.0.1” ”strong=”l/6783|����������/��
x-morph=”OSHM:HRd/Ncfsa” x-cantillationLevel=”1.0.0” ”strong=”l/7069|�������/��
x-morph=”OSHM:HRd/Vqrmsa” ”strong=”853|��/���� x-morph=”OSHM:HTo/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”l/1755|�/��������/�� x-morph=”OSHM:HR/Ncmpc/Sp3ms”
x-cantillationLevel=”1” ”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”3318|������
x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”0.0” ”strong=”b/3104|�������/���
48+ ”strong=”l|��/���� x-morph=”OSHM:HR/Sp3ms”
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”strong=”341|����/������� x-morph=”OSHM:HVqrmpc/Sp2mp” x-cantillationLevel=”1”
strong=”227|���� a” x-morph=”OSHM:HD” x-cantillationLevel=”0.1.0” strong=”7673|�����������
a” x-morph=”OSHM:HVqi3fs” ”strong=”d/776|������/�� x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”0.1” ”strong=”c/7521|��������/�� x-morph=”OSHM:HC/Vhq3fs”
x-cantillationLevel=”0.0” ”strong=”853|��� x-morph=”OSHM:HTo”��/�������������|strong=”7676”
x-morph=”OSHM:HNcbpc/Sp3fs” x-cantillationLevel=”0”� 35 ”strong=”3605|����
x-morph=”OSHM:HNcmsc”�������|strong=”3117” x-morph=”OSHM:HNcmpc”
”strong=”8074|�/���������� x-morph=”OSHM:HVHc/Sp3fs” x-cantillationLevel=”1.0”
strong=”7673|����������� a” x-morph=”OSHM:HVqi3fs” x-cantillationLevel=”1”
”strong=”853|���� x-morph=”OSHM:HTo” strong=”834|������� a” x-
morph=”OSHM:HTr” ”strong=”3808|���� x-morph=”OSHM:HTn”����������|strong=”7673
a” x-morph=”OSHM:HVqp3fs” x-cantillationLevel=”0.0.0” ”strong=”b/7676|����/�����������/���
x-morph=”OSHM:HR/Ncbpc/Sp2mp” x-cantillationLevel=”0.0” ”strong=”b/3427|����/��������/���
x-morph=”OSHM:HR/Vqc/Sp2mp” strong=”5921|��/������ a” x-morph=”OSHM:HR/Sp3fs”
x-cantillationLevel=”0”� 36 ”strong=”c/d/7604|�������������/��/��
x-morph=”OSHM:HC/Td/VNrmpa” ”strong=”b|����/��� x-morph=”OSHM:HR/Sp2mp”
x-cantillationLevel=”1.2” ”strong=”c/935|���������/�� x-morph=”OSHM:HC/Vhq1cs”
”strong=”4816|�������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1.0”
”strong=”b/3824|�/�������/��� x-morph=”OSHM:HR/Ncmsc/Sp3mp” x-
cantillationLevel=”1.1” ”strong=”b/776|��������/��� x-morph=”OSHM:HR/Ncbpc”
x-cantillationLevel=”1.0” ”strong=”341|����/������� x-morph=”OSHM:HVqrmpc/Sp3mp”
x-cantillationLevel=”1” ”strong=”c/7291|������/�� x-morph=”OSHM:HC/Vqq3ms”
”strong=”853|�/����� x-morph=”OSHM:HTo/Sp3mp” x-cantillationLevel=”0.1.1”
strong=”6963|����� a” x-morph=”OSHM:HNcmsc” x-cantillationLevel=”0.1.0”
”strong=”5929|������ x-morph=”OSHM:HNcmsa” ”strong=”5086|�������
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x-cantillationLevel=”0”� 37 ”strong=”c/3782|���������/�� x-morph=”OSHM:HC/Vqq3cp”
”strong=”376|����� x-morph=”OSHM:HNcmsa”�/������/����|strong=”b/251”
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x-morph=”OSHM:HC/Tn”����������|strong=”1961” x-morph=”OSHM:HVqi3fs”
”strong=”l|����/�� x-morph=”OSHM:HR/Sp2mp” x-cantillationLevel=”0.1.0”
”strong=”8617|���������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.1”
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”strong=”341|����/�������� x-morph=”OSHM:HVqrmpc/Sp2mp” x-cantillationLevel=”0”�
38 ”strong=”c/6|�����������/�� x-morph=”OSHM:HC/Vqq2mp” x-cantillationLevel=”1.0”
strong=”b/1471|��������/��� a” x-morph=”OSHM:HRd/Ncmpa” x-cantillationLevel=”1”
”strong=”c/398|��������/�� x-morph=”OSHM:HC/Vqq3fs” ”strong=”853|����/����
x-morph=”OSHM:HTo/Sp2mp” x-cantillationLevel=”0.1” ”strong=”776|������
x-morph=”OSHM:HNcbsc” x-cantillationLevel=”0.0” ”strong=”341|����/�������
x-morph=”OSHM:HVqrmpc/Sp2mp” x-cantillationLevel=”0”� 39 ”strong=”c/d/7604|�������������/��/��
x-morph=”OSHM:HC/Td/VNrmpa” ”strong=”b|����/��� x-morph=”OSHM:HR/Sp2mp”
x-cantillationLevel=”1.1.1” ”strong=”4743|����������� x-morph=”OSHM:HVNi3mp”
x-cantillationLevel=”1.1.0” ”strong=”b/5771|�/�������/���� x-morph=”OSHM:HR/Ncbsc/Sp3mp”
x-cantillationLevel=”1.1” ”strong=”b/776|��������/��� x-morph=”OSHM:HR/Ncbpc”
x-cantillationLevel=”1.0” ”strong=”341|����/������� x-morph=”OSHM:HVqrmpc/Sp2mp”
x-cantillationLevel=”1” ”strong=”c/637|����/�� x-morph=”OSHM:HC/D”
x-cantillationLevel=”0.0.0” ”strong=”b/5771|��������/��� x-morph=”OSHM:HRd/Ncbpc”
”strong=”1|�/������� x-morph=”OSHM:HNcmpc/Sp3mp” x-cantillationLevel=”0.0”
”strong=”854|�/������ x-morph=”OSHM:HR/Sp3mp” ”strong=”4743|����������
x-morph=”OSHM:HVNi3mp” x-cantillationLevel=”0”� 40 ”strong=”c/3034|�����������/��
x-morph=”OSHM:HC/Vtq3cp” ”strong=”853|��� x-morph=”OSHM:HTo”��/�������|strong=”5771”
x-morph=”OSHM:HNcbsc/Sp3mp” x-cantillationLevel=”1.1.0” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”�������|strong=”5771” x-morph=”OSHM:HNcbsc”
”strong=”1|�/������� x-morph=”OSHM:HNcmpc/Sp3mp” x-cantillationLevel=”1.1”
”strong=”b/4604|�/�������/��� x-morph=”OSHM:HR/Ncmsc/Sp3mp” x-
cantillationLevel=”1.0” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”4603|�������� x-morph=”OSHM:HVqp3cp”�/����|strong=”b”
x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1” ”strong=”c/637|����/��
x-morph=”OSHM:HC/D” x-cantillationLevel=”0.1” strong=”834|������ a”
x-morph=”OSHM:HTr”����������|strong=”1980” x-morph=”OSHM:HVqp3cp”
strong=”5973|�/������ a” x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0.0”
”strong=”b/7147|������/��� x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0”�
41 ”strong=”637|��� x-morph=”OSHM:HTa”�������|strong=”589” x-morph=”OSHM:HPp1cs”
x-cantillationLevel=”1.2.1” ”strong=”3212|������� x-morph=”OSHM:HVqi1cs”
strong=”5973|��/����� a” x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1.2.0”
”strong=”b/7147|������/��� x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1.2”
”strong=”c/935|���������/�� x-morph=”OSHM:HC/Vhq1cs” ”strong=”853|�/�����
x-morph=”OSHM:HTo/Sp3mp” x-cantillationLevel=”1.1” ”strong=”b/776|������/���
x-morph=”OSHM:HR/Ncbsc” x-cantillationLevel=”1.0” ”strong=”341|����/�������
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x-morph=”OSHM:HVqrmpc/Sp3mp” x-cantillationLevel=”1” strong=”176|���
a” x-morph=”OSHM:HC”�����|strong=”227 a” x-morph=”OSHM:HD” ”strong=”3665|���������
x-morph=”OSHM:HVNi3ms” x-cantillationLevel=”0.1.1” ”strong=”3824|��/������
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a” x-morph=”OSHM:HC/D” x-cantillationLevel=”0.0” ”strong=”7521|��������
x-morph=”OSHM:HVqi3mp” ”strong=”853|��� x-morph=”OSHM:HTo”�/��������|strong=”5771”
x-morph=”OSHM:HNcbsc/Sp3mp” x-cantillationLevel=”0”� 42 ”strong=”c/2142|�����������/��
x-morph=”OSHM:HC/Vqq1cs” x-cantillationLevel=”1.0” ”strong=”853|���
x-morph=”OSHM:HTo”�/����������|strong=”1285” x-morph=”OSHM:HNcfsc/Sp1cs”
”strong=”3290|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/637|����/�� x-morph=”OSHM:HC/D” ”strong=”853|��� x-
morph=”OSHM:HTo”�/����������|strong=”1285” x-morph=”OSHM:HNcfsc/Sp1cs”
”strong=”3327|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.0.0”
”strong=”c/637|����/�� x-morph=”OSHM:HC/D” ”strong=”853|��� x-
morph=”OSHM:HTo”�/����������|strong=”1285” x-morph=”OSHM:HNcfsc/Sp1cs”
”strong=”85|���������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.0”
”strong=”2142|��������� x-morph=”OSHM:HVqi1cs” x-cantillationLevel=”0.0”
”strong=”c/d/776|������/��/�� x-morph=”OSHM:HC/Td/Ncbsa” ”strong=”2142|���������
x-morph=”OSHM:HVqi1cs” x-cantillationLevel=”0”� 43 ”strong=”c/d/776|������/��/��
x-morph=”OSHM:HC/Td/Ncbsa” strong=”5800|��������� a” x-morph=”OSHM:HVNi3fs”
”strong=”m|����/�� x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1.1.1.0”
”strong=”c/7521|������/�� x-morph=”OSHM:HC/Vqi3fs” ”strong=”853|���
x-morph=”OSHM:HTo”��/�������������|strong=”7676” x-morph=”OSHM:HNcbpc/Sp3fs”
x-cantillationLevel=”1.1.1” ”strong=”b/8074|��/��������/��� x-morph=”OSHM:HRd/VHc/Sp3fs”
x-cantillationLevel=”1.1.0” ”strong=”m|����/�� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”1.1” ”strong=”c/1992|����/�� x-morph=”OSHM:HC/Pp3mp”
x-cantillationLevel=”1.0” ”strong=”7521|�������� x-morph=”OSHM:HVqi3mp”
”strong=”853|��� x-morph=”OSHM:HTo”�/��������|strong=”5771” x-
morph=”OSHM:HNcbsc/Sp3mp” x-cantillationLevel=”1” ”strong=”3282|������
x-morph=”OSHM:HC” ”strong=”c/b/3282|������/��/�� x-morph=”OSHM:HC/R/C”
x-cantillationLevel=”0.2” ”strong=”b/4941|�/�����������/��� x-morph=”OSHM:HR/Ncmpc/Sp1cs”
strong=”3988|�������� a” x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”0.1”
”strong=”c/853|���/�� x-morph=”OSHM:HC/To”�/���������|strong=”2708”
x-morph=”OSHM:HNcbpc/Sp1cs” x-cantillationLevel=”0.0” ”strong=”1602|���������
x-morph=”OSHM:HVqp3fs” ”strong=”5315|�/�������� x-morph=”OSHM:HNcbsc/Sp3mp”
x-cantillationLevel=”0”� 44 ”strong=”c/637|���/�� x-morph=”OSHM:HC/D”�����|strong=”1571”
x-morph=”OSHM:HTa”������|strong=”2063” x-morph=”OSHM:HPdxfs” x-
cantillationLevel=”1.1.1.1” ”strong=”b/1961|�/��������/���� x-morph=”OSHM:HR/Vqc/Sp3mp”
x-cantillationLevel=”1.1.1.0” ”strong=”b/776|������/��� x-morph=”OSHM:HR/Ncbsc”
”strong=”341|����/�������� x-morph=”OSHM:HVqrmpc/Sp3mp” x-cantillationLevel=”1.1.1”
”strong=”3808|���� x-morph=”OSHM:HTn”�/������������|strong=”3988
a” x-morph=”OSHM:HVqp1cs/Sp3mp” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”��/�����������|strong=”1602”
x-morph=”OSHM:HVqp1cs/Sp3mp” x-cantillationLevel=”1.1.0” ”strong=”l/3615|�/��������/��
x-morph=”OSHM:HR/Vpc/Sp3mp” x-cantillationLevel=”1.1” strong=”l/6565|������/��
a” x-morph=”OSHM:HR/Vhc” ”strong=”1285|�/��������� x-morph=”OSHM:HNcfsc/Sp1cs”
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x-cantillationLevel=”1.0” ”strong=”854|�/������ x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”1” strong=”3588|����� a” x-morph=”OSHM:HC” x-
cantillationLevel=”0.0.0” ”strong=”589|������ x-morph=”OSHM:HPp1cs”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
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45 ”strong=”c/2142|�����������/�� x-morph=”OSHM:HC/Vqq1cs” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1.0” ”strong=”1285|��������
x-morph=”OSHM:HNcfsc” ”strong=”7223|����������� x-morph=”OSHM:HAampa”
x-cantillationLevel=”1” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”3318|���������� x-morph=”OSHM:HVhp1cs”��/�����|strong=”853”
x-morph=”OSHM:HTo/Sp3mp” ”strong=”m/776|������/�� x-morph=”OSHM:HR/Ncbsc”
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x-morph=”OSHM:HR/Vqc” ”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp”
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a” x-morph=”OSHM:HTr” x-cantillationLevel=”1.2.0” ”strong=”5414|������
x-morph=”OSHM:HVqp3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2” ”strong=”996|��/������ x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1.1” ”strong=”c/996|�����/�� x-morph=”OSHM:HC/R”
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x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”b/3027|���/���
x-morph=”OSHM:HR/Ncbsc”��������|strong=”4872” x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� �27 ”strong=”c/1696|���������/�� x-morph=”OSHM:HC/Vpw3ms”
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”strong=”376|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1”
strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”6381|��������
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”strong=”d/6187|���/�������/��� x-morph=”OSHM:HTd/Ncmsc/Sp2ms”
x-cantillationLevel=”1.1” ”strong=”5704|���� x-morph=”OSHM:HR” x-cantillationLevel=”1.0”
”strong=”8141|������� x-morph=”OSHM:HNcfsc” ”strong=”d/3104|�������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1” ”strong=”c/5414|������/��
x-morph=”OSHM:HC/Vqq3ms” ”strong=”853|��� x-morph=”OSHM:HTo”���/�������/���|strong=”d/6187”
x-morph=”OSHM:HTd/Ncmsc/Sp2ms” x-cantillationLevel=”0.1.0” ”strong=”b/3117|������/���
x-morph=”OSHM:HRd/Ncmsa” ”strong=”d/1931|�����/�� x-morph=”OSHM:HTd/Pp3ms”
x-cantillationLevel=”0.1” ”strong=”6944|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.0” ”strong=”l/3068|������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”0”� 24 ”strong=”b/8141|�������/��� x-morph=”OSHM:HR/Ncfsc”
”strong=”d/3104|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.0”
”strong=”7725|�������� x-morph=”OSHM:HVqi3ms” strong=”d/7704|��������/��
b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1” strong=”l/834|�������/��
a” x-morph=”OSHM:HR/Tr” ”strong=”7069|���/����� x-morph=”OSHM:HVqp3ms/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”m/854|��/�����/�� x-morph=”OSHM:HR/R/Sp3ms”
x-cantillationLevel=”1” strong=”l/834|������/�� a” x-morph=”OSHM:HR/Tr”��/���|strong=”l”
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.0” ”strong=”272|���������
x-morph=”OSHM:HNcfsc” ”strong=”d/776|������/�� x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”0”� 25 ”strong=”c/3605|���/�� x-morph=”OSHM:HC/Ncmsc”���/��������|strong=”6187”
x-morph=”OSHM:HNcmsc/Sp2ms” x-cantillationLevel=”1.1” ”strong=”1961|��������
x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”1.0” ”strong=”b/8255|�������/���
x-morph=”OSHM:HR/Ncmsc” ”strong=”d/6944|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1” ”strong=”6242|���������� x-morph=”OSHM:HAcbpa”
”strong=”1626|������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.0”
”strong=”1961|�������� x-morph=”OSHM:HVqi3ms” ”strong=”d/8255|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”� � 26 ”strong=”389|����
x-morph=”OSHM:HTa”���������|strong=”1060” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1.0.0” strong=”834|������ a” x-morph=”OSHM:HTr”����������|strong=”1069”
x-morph=”OSHM:HVPi3ms” ”strong=”l/3068|������/��� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.1.0” ”strong=”b/929|��������/��� x-morph=”OSHM:HR/Ncfsa”
x-cantillationLevel=”1.1” ”strong=”3808|���� x-morph=”OSHM:HTn”������������|strong=”6942”
x-morph=”OSHM:HVhi3ms” ”strong=”376|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.0” ”strong=”853|��/���� x-morph=”OSHM:HTo/Sp3ms”
x-cantillationLevel=”1” strong=”518|��� a” x-morph=”OSHM:HC”�������|strong=”7794”
x-morph=”OSHM:HNcmsa” strong=”518|��� a” x-morph=”OSHM:HC”������|strong=”7716”
x-morph=”OSHM:HNcbsa” x-cantillationLevel=”0.1” ”strong=”l/3068|������/���
x-morph=”OSHM:HR/Np” x-cantillationLevel=”0.0” ”strong=”1931|�����
x-morph=”OSHM:HPp3ms” x-cantillationLevel=”0”� 27 strong=”c/518|����/��
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a” x-morph=”OSHM:HC/C” ”strong=”b/929|���������/��� x-morph=”OSHM:HRd/Ncfsa”
”strong=”d/2931|���������/�� x-morph=”OSHM:HTd/Aafsa” x-cantillationLevel=”1.1.0”
”strong=”c/6299|������/�� x-morph=”OSHM:HC/Vqq3ms” ”strong=”b/6187|��/��������/��
x-morph=”OSHM:HR/Ncmsc/Sp2ms” x-cantillationLevel=”1.1” ”strong=”c/3254|������/��
x-morph=”OSHM:HC/Vqq3ms” ”strong=”2549|��/��������� x-morph=”OSHM:HNcfsc/Sp3ms”
x-cantillationLevel=”1.0” strong=”5921|�/������ a” x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1” strong=”c/518|���/�� a” x-morph=”OSHM:HC/C”�����|strong=”3808”
x-morph=”OSHM:HTn” strong=”1350|��������� a” x-morph=”OSHM:HVNi3ms”
x-cantillationLevel=”0.0” ”strong=”c/4376|���������/�� x-morph=”OSHM:HC/VNq3ms”
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x-morph=”OSHM:HNcmsc”�������|strong=”2764 a” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1.1.1” strong=”834|������� a” x-morph=”OSHM:HTr”
strong=”2763|�������� a” x-morph=”OSHM:HVhi3ms” ”strong=”376|������
x-morph=”OSHM:HNcmsa” ”strong=”l/3068|������/��� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.1.1.0” ”strong=”m/3605|����/�� x-morph=”OSHM:HR/Ncmsc”�������|strong=”834
a” x-morph=”OSHM:HTr”��/���|strong=”l” x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1.1.1” ”strong=”m/120|������/�� x-morph=”OSHM:HR/Ncmsa”
”strong=”c/929|��������/�� x-morph=”OSHM:HC/Ncfsa” x-cantillationLevel=”1.1.0”
strong=”c/m/7704|��������/��/�� b” x-morph=”OSHM:HC/R/Ncmsc”
”strong=”272|��/��������� x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”1.1”
”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”4376|���������
x-morph=”OSHM:HVNi3ms” x-cantillationLevel=”1.0” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn” strong=”1350|��������� a” x-morph=”OSHM:HVNi3ms”
x-cantillationLevel=”1” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”�������|strong=”2764
a” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1” ”strong=”6944|�������
x-morph=”OSHM:HNcmsc”������������|strong=”6944” x-morph=”OSHM:HNcmpa”
”strong=”1931|����� x-morph=”OSHM:HPp3ms” x-cantillationLevel=”0.0”
”strong=”l/3068|������/�� x-morph=”OSHM:HR/Np” x-cantillationLevel=”0”�
29 ”strong=”3605|���� x-morph=”OSHM:HNcmsc”�������|strong=”2764
a” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0.1” strong=”834|�������
a” x-morph=”OSHM:HTr” strong=”2763|�������� a” x-morph=”OSHM:HVHi3ms”
x-cantillationLevel=”1.0.0” strong=”4480|��� a” x-morph=”OSHM:HR”������/���|strong=”d/120”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”6299|��������� x-morph=”OSHM:HVNi3ms”
x-cantillationLevel=”1” ”strong=”4191|����� x-morph=”OSHM:HVqa” x-
cantillationLevel=”0.0” ”strong=”4191|������� x-morph=”OSHM:HVHi3ms”
x-cantillationLevel=”0”� 30 ”strong=”c/3605|���/�� x-morph=”OSHM:HC/Ncmsc”����������|strong=”4643”
x-morph=”OSHM:HNcmsc” ”strong=”d/776|������/�� x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”1.1.0.0” ”strong=”m/2233|�������/�� x-morph=”OSHM:HR/Ncmsc”
”strong=”d/776|�������/�� x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1.1.0”
”strong=”m/6529|�������/�� x-morph=”OSHM:HR/Ncmsc” ”strong=”d/6086|����/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1” ”strong=”l/3068|������/��
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x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0” ”strong=”l/3068|������/���
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x-morph=”OSHM:HR/Np” x-cantillationLevel=”0”� 31 strong=”c/518|���/��
a” x-morph=”OSHM:HC/C”��������|strong=”1350 a” x-morph=”OSHM:HVqa”
strong=”1350|�������� a” x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”1.0.0”
”strong=”376|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0”
”strong=”m/4643|��/�����������/�� x-morph=”OSHM:HR/Ncmsc/Sp3ms”
x-cantillationLevel=”1” ”strong=”2549|��/���������� x-morph=”OSHM:HNcfsc/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”3254|������ x-morph=”OSHM:HVhi3ms”
strong=”5921|�/������ a” x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0”�
32 ”strong=”c/3605|���/�� x-morph=”OSHM:HC/Ncmsc”����������|strong=”4643”
x-morph=”OSHM:HNcmsc” ”strong=”1241|������� x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”1.1.0” ”strong=”c/6629|�����/�� x-morph=”OSHM:HC/Ncbsa”
x-cantillationLevel=”1.1” ”strong=”3605|����� x-morph=”OSHM:HNcmsa”
strong=”834|������ a” x-morph=”OSHM:HTr”���������|strong=”5674
a” x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”1.0” ”strong=”8478|�������
x-morph=”OSHM:HR” ”strong=”d/7626|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1” ”strong=”d/6224|����������/��� x-morph=”OSHM:HTd/Aomsa”
x-cantillationLevel=”0.1” ”strong=”1961|�������� x-morph=”OSHM:HVqi3ms”���������|strong=”6944”
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x-morph=”OSHM:HTn” ”strong=”1239|��������� x-morph=”OSHM:HVpi3ms”
x-cantillationLevel=”1.0.0” ”strong=”996|������ x-morph=”OSHM:HR”������|strong=”2896
a” x-morph=”OSHM:HAamsa” strong=”l/7451|����/�� a” x-morph=”OSHM:HR/Aamsa”
x-cantillationLevel=”1.0” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
”strong=”4171|����/�������� x-morph=”OSHM:HVhi3ms/Sp3ms” x-cantillationLevel=”1”
strong=”c/518|���/�� a” x-morph=”OSHM:HC/C”�������|strong=”4171”
x-morph=”OSHM:HVha” ”strong=”4171|����/�������� x-morph=”OSHM:HVhi3ms/Sp3ms”
x-cantillationLevel=”0.1” ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqq3ms”������|strong=”1931”
x-morph=”OSHM:HPp3ms” ”strong=”c/8545|��/���������/�� x-morph=”OSHM:HC/Ncfsc/Sp3ms”
x-cantillationLevel=”0.0.0” ”strong=”1961|�������� x-morph=”OSHM:HVqi3ms”��������|strong=”6944”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0” ”strong=”3808|����
x-morph=”OSHM:HTn” strong=”1350|��������� a” x-morph=”OSHM:HVNi3ms”
x-cantillationLevel=”0”� 34 ”strong=”428|������� x-morph=”OSHM:HPdxcp”
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a” x-morph=”OSHM:HNcmpc” ”strong=”3478|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”b/2022|����/��� x-morph=”OSHM:HR/Ncmsc”
x-cantillationLevel=”0.0” ”strong=”5514|������� x-morph=”OSHM:HNp”
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